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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
la 6699 0.7 0.5 1 69.2 99.1
1b 6329 0.6 0.5 1 56.6 93.7
2 6613 1.1 0.8 2 554 97.9
3ai 5138 0.5 0.5 1 52.5 76
3aii 4771 0.2 0.4 1 18.7 70.6
3b 6075 0.7 0.5 1 69 89.9
4a 6059 0.4 0.5 1 43.7 89.7
4b 6446 0.3 0.5 1 34.2 95.4
4c 4969 0.2 0.4 1 23.2 73.5
5a 4870 0.6 0.8 2 28.2 72.1
5b 6207 0.3 0.5 1 31.1 91.9
6a 6565 0.4 0.5 1 43.2 97.2
6b 6409 0.3 0.5 1 34.2 94.8
6¢ 5567 0.4 0.6 2 20.5 82.4
7a 6221 0.7 0.5 1 68.8 92.1
7b 6006 0.7 0.5 1 68.4 88.9
7c 4359 0.2 0.4 1 17.5 64.5
8 5913 2 1.4 4 49.2 87.5
9 5404 0.4 0.5 1 41.1 80
10 4806 0.9 0.9 2 44.2 71.1
11 4157 1 13 5 19.9 61.5
12a 5931 0.8 0.9 2 38.2 87.8

12b 4851 0.3 0.6 2 16.3 71.8
13 4485 1.1 1.3 6 18.2 66.4
14a 6034 0.8 0.4 1 80.5 89.3
14b 5282 0.3 0.5 1 33.8 78.2
14c 5643 0.6 0.9 2 31 83.5
14d 5228 1 1 4 24 77.4
15 3884 1 1.6 5 20 57.5
16 5622 0 0.3 2 1.9 83.2
17 4573 0.5 0.8 3 154 67.7
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Question 5(a)

5.

(a) Elaine writes down two square numbers.

She subtracts the smaller square number from the larger square number.

Her answer is 9.

Which two square numbers did Elaine write down?

[2]











5. (a) Elaine writes down two square numbers.

She subtracts the smaller square number from the larger square number.
Her answer is 9.

Which two square numbers did Elaine write down? [2]
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Elaine's square numbers are ... \ 4 ...... and 5 N I—
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Elaine writes down two square numbers.

She subtracts the smaller square number from the larger square number.
Her answer is 9. S o SR

Which two square nurnbers did Elaine write down?

Bty

Elaine’s square numbers are o‘ and ' 8

(2]











5.(a) 16 and 25

B2

Answer space takes precedence.
Accept 42and 52.

B1 for writing
e two numbers with a difference of 9, one of which is
square, or

o two different square numbers in their answer space, or
e listing at least three square numbers in their workings.
If no marks, award SC1 for an unsupported answer of 4
and 5.











Question 5(a)

5.

(a) Elaine writes down two square numbers.

She subtracts the smaller square number from the larger square number.

Her answer is 9.

Which two square numbers did Elaine write down?

[2]




Sticky Note

Candidates often demonstrated their knowledge of square numbers but could not find two square numbers with a difference of 9 (16 and 25). These candidates were awarded 1 mark. 










5. (a) Elaine writes down two square numbers.

She subtracts the smaller square number from the larger square number.
Her answer is 9.

Which two square numbers did Elaine write down? [2]
L. A =

Elaine's square numbers are ... \ 4 ...... and 5 N I—




Sticky Note

Other candidates engaged with the condition that the numbers needed to have difference of 9 but had not learnt their square numbers. These candidates were awarded 0 marks. 
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Elaine writes down two square numbers.

She subtracts the smaller square number from the larger square number.
Her answer is 9. S o SR

Which two square nurnbers did Elaine write down?

Bty

Elaine’s square numbers are o‘ and ' 8

(2]




Sticky Note

Some candidates wrote only one square number, but the difference between their two numbers was 9. These candidates were awarded 1 mark. 










5.

(@) Elaine writes down two square numbers.

She subtracts the smaller square number from the larger square number.
Her answer is 9.

Which two square numbers did Elaine write down? [2]
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Question 6(c)

(c) The diagram below shows two angles on a straight line.
The larger angle is 30° greater than the smaller angle.
Find the size of each angle.

(2]

Diagram not
drawn to scale

Smaller angle = ... uj ............. o Larger angle = .











Question 6(c)

(c) The diagram below shows two angles on a straight line.
The larger angle is 30° greater than the smaller angle.
Find the size of each angle. [2]

Diagram not
drawn to scale

< o <

Smallerangle = ... C)......° Larger angle = 4@ 190 -











(©)

The diagram below shows two angles on a straight line.
The larger angle is 30° greater than the smaller angle.
Find the size of each angle.

Diagram not
drawn to scale

R .

Smaller angle = qo R Larger angle = QO R

[2]











6.(c) (Smaller angle =) 75(°) B2 B1 for two angles which add to 180°, provided neither
(Larger angle =) 105(°) angle is 90° or 0°.










Question 6(c)

(c) The diagram below shows two angles on a straight line.
The larger angle is 30° greater than the smaller angle.
Find the size of each angle.

(2]

Diagram not
drawn to scale

Smaller angle = ... uj ............. o Larger angle = .




Sticky Note

Some candidates engaged with the condition that the larger angle needed to be 30° greater than the smaller angle but did not know that angles on a straight line add to 180°. They weren’t awarded any marks. 










Question 6(c)

(c) The diagram below shows two angles on a straight line.
The larger angle is 30° greater than the smaller angle.
Find the size of each angle. [2]

Diagram not
drawn to scale

< o <

Smallerangle = ... C)......° Larger angle = 4@ 190 -




Sticky Note

Other candidates demonstrated their knowledge that angles on a straight line add to 180°, but ignored the condition that their larger angle should be 30° greater than their smaller angle. These candidates were awarded 1 mark. 










(©)

The diagram below shows two angles on a straight line.
The larger angle is 30° greater than the smaller angle.
Find the size of each angle.

Diagram not
drawn to scale

R .

Smaller angle = qo R Larger angle = QO R

[2]




Sticky Note

This candidate’s angles add to 180°, but candidates who gave two angles of 90°, or an angle of 0° with an angle of 180°, were awarded 0 marks. 










6.

() The diagram below shows two angles on a straight line.
The larger angle is 30° greater than the smaller angle.
Find the size of each angle. 2]

Diagram not
drawn to scale
Smallerangle = ... ° Largerangle = ... °
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Question 8(c)

{c) Adrian has n grapes. He eats 4 of them.
Write down, in terms of », the total number of grapes Adrian now has. [1]
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(c) Adrian has n grapes. He eats 4 of them.
Write down, in terms of n, the total number of grapes Adrian now has. 1]
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Write down, in terms of », the total number of grapes Adrian now has. [1]











| 7.(c) n — 4 (grapes) | B1 | Mark final answer











Question 8(c)

{c) Adrian has n grapes. He eats 4 of them.
Write down, in terms of », the total number of grapes Adrian now has. [1]

o e M Afegae ey




Sticky Note

Many candidates gave a numerical answer, often after choosing a value of n.










Question 8(c)

(c) Adrian has n grapes. He eats 4 of them.
Write down, in terms of n, the total number of grapes Adrian now has. 1]




Sticky Note

Many candidates gave a numerical answer, often after choosing a value of n.










)

Adrian has »n grapes. He eats 4 of them.
Write down, in terms of », the total number of grapes Adrian now has. [1]




Sticky Note

Others tried to form an expression with n, but added 4 or multiplied by 4, instead of subtracted 4. 
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Adrian has n grapes. He eats 4 of them.
Write down, in terms of n, the total number of grapes Adrian now has.
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5. (a) Elaine writes down two square numbers.

She subtracts the smaller square number from the larger square number.
Her answer is 9.

Which two square numbers did Elaine write down? [2]











5. (a) Elaine writes down two square numbers.

She subtracts the smaller square number from the larger square number.
Her answer is 9.

Which two square numbers did Elaine write down? [2]




Sticky Note

A few candidates clearly engaged with square numbers but wrote 4 and 5, instead of 16 and 25, as their final answer. They were awarded 1 mark. 










(c) The diagram below shows two angles on a straight line.

The larger angle is 30° greater than the smaller angle.
Find the size of each angle.

2]

Diagram not
drawn to scale

aM = 360
BB QOYAORRG

Smaller angle = ... qo T











(c) The diagram below shows two angles on a straight line.

The larger angle is 30° greater than the smaller angle.
Find the size of each angle.

2]

Diagram not
drawn to scale

aM = 360
BB QOYAORRG

Smaller angle = ... qo T




Sticky Note

Some candidates thought that angles on a straight line add to 360°. They were awarded 0 marks. 










Question 8(c)

(c) The diagram below shows two angles on a straight line.
The large angle is 5 times the size of the small angle.
Find the size of each angle. 2]

Small angle = .. L/\?) 2 Large angle = \ “35 &










Question 8(c)

(c) The diagram below shows two angles on a straight line.
The large angle is 5 times the size of the small angle.
Find the size of each angle. 2]

Small angle = .. L/\?) 2 Large angle = \ “35 &



Comment

Candidates often gave an answer of 45⁰ as the size of small angle. This was typically obtained because candidates used the diagram (which was not drawn to scale) and decided the small angle was a quarter of a straight line – ¼ of 180⁰ is 45⁰. This candidate was awarded B1 because the total of their small and large angles is 180⁰.










()

T U Fb_'jL

Adrian has n grapes. He eats 4 of them.
Write down, in terms of », the total number of grapes Adrian now has. [1]
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Adrian has n grapes. He eats 4 of them.
Write down, in terms of », the total number of grapes Adrian now has. [1]




Sticky Note

Others tried to form an expression with n, but added 4 or multiplied by 4, instead of subtracted 4 










Question 9

What is the volume of Cuboid B? m—
You must show all your working. [3+2 OCW]

Yol ..

o Nosaong.. oo CfOCm ..................











Question 9

What is the volume of Cuboid B? m—
You must show all your working. [3+2 OCW]

Yol ..

o Nosaong.. oo CfOCm ..................




Comment

Some candidates preferred to calculate the volume using cubes instead of using length, width and height. This candidate was awarded M1 A1 B1, however they were awarded W0 for providing incorrect units – using cm2 instead of cm3.
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10. 303

B2

Mark final answer.
B1 for sight of 245 or 58 (but not 245x or 58y) OR
B1 for an unsupported final answer of 303x, or similar.







Question 10

10. Use the formula W =7X +2Y to find the value of Wwhen X =35 and ¥ =29. [2]



Sticky Note

Some candidates used non-calculator methods despite this being a calculator-allowed paper, often making numerical errors. This candidate gave a fully correct answer. 






Question 10

10. Use the formula W =7X +2Y to find the value of Wwhen X =35 and ¥ =29. [2]






10. Use the formula W = 7X +2Y to find the value of Wwhen X' =35 and ¥ =29, [2]



Sticky Note

Some candidates substituted correctly into 7X and 2Y but did not give a final answer of 303. They were awarded 1 mark. 






10. Use the formula W = 7X +2Y to find the value of Wwhen X' =35 and ¥ =29, [2]






Question 10

10. Use the formula W =7X +2Y to find the value of Wwhen X =35 and ¥ =29, 2




Sticky Note

Some candidates did not know that 7X means 7 × X and 2Y means 2 × Y. This first candidates added the value of X to 7 and added the value of Y to 2.






Question 10

10. Use the formula W =7X +2Y to find the value of Wwhen X =35 and ¥ =29, 2







Question 10

10. Use the formula W =7X +2Y to find the value of W whaniX =35and Y =29. ' [2]




Sticky Note

This candidate replaced X with 35 and Y with 29, obtaining 735 and 229. This error was seen less than in previous series. 






Question 10

10. Use the formula W =7X +2Y to find the value of W whaniX =35and Y =29. ' [2]








